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ENGLISH VERSION

Instructions : (1) Answer all the questions on the basis of internal
option.
(2) Question no. 1 MCQ should be answered in the
answer book.
(3) Right side figures show the mark of the question.

1  Answer all the MCQs on the basis of the internal option : 20

(1) What name will you give to the inflation when it occurs
after the war ?

(A) Battle applicable inflation
(B) Peace applicable inflation
(C) As the war inflation
(D) Short term inflation

(2) What i1s to be called when the expense done by the
government is not resulted in ?

(A) Capital expense

(B) Revenue expense

(C) Production expense

(D) Non-production expense

(3) What type of inflation the Government can be successful
in preventing it ?

(A) Transitory (B) Chronic
(C) Medieval (D) None of these
(4) Which factor increases due to inflation in economy ?
(A) Production cost (B) Income
(C) Price (D) All above three

(5) Which of the following event produces boom and bare
in economy ?

(A) The phenomenon of population growth
(B) Trade cycle event
(C) Natural calamity event

(D) Political upheaval event
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Which economist presented the physiological theory of
trade-cycle ?

(A) Prof. Jevans (B) Prof. Schumpeter
(C) Prof. Hayek (D) Prof. Pigou

What come out when both saving and capital investment
go side by side ?

(A) Unbalance (B) Inclemency

(C) Balance (D) Elasticity

Main trade-cycle is known for which economist ?
(A) Prof. Joseph Kichan

(B) Prof. Juglar

(C) Prof. Kondretieff

(D) Prof. Heberlar

How many additional trade-cycles are noticed in every
main trade-cycle ?

A 2 or 3 B) 4o0rb
(C) 3or4 D) 8 or 10

In which step of trade-cycle increases slowly in cost,
production, employment and income ?

(A) Boom (B) Reformation
(C) Depression D) Reflux

What is the transitional unemployment rate in the
developed country ?

A) 8% B) 12%
© 3% D) 5%

Which type of economy is assumed by the classical
economists ?

(A) Defensive economy (B) Free economy

(C) Controlled economy (D) Uncontrolled economy
Who found out the first modern employment theory ?
(A) Prof. A. C. Pigou (B) Prof. J. S. Mill

(C) Prof. J. M. Keynes (D) Prof. J. M. Clerk
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(149) What is the total sum of marginal propensitive of
consume and marginal propensitive of saving ?

(A) Four B) Two
(C) Three (D) One

(15) The ratio between additional income and additional
expenditure is .......... ?

(A) Marginal propensitive of consume
(B) Average propensitive of consume
(C) Total propensitive of consume
(D) None of the above
(16) On which matter is the expenditure based on ?
(A) Income proportion
(B) Proportion of income and expenditure
(C) Propensitive of consume
(D) None of the above
(17) Which type of fluctuation period is fixed ?
(A) Seasonal fluctuation
(B) Long-lasting fluctuation
(C) Cyclical fluctuation
(D) Random fluctuation

(18) Which type of demand increases when employment
demand increases during the boom time ?

(A) Luxury goods

(B) Consumer goods

(C) Happiness of conveniences goods
(D) Non-consumer goods

(19) Which factors increases when demand of productivity
increases after getting full employment ?

(A) Marginal cost (B) Optional cost

(C) Average cost (D) Total production cost
(20) Which factor is to be considered to come out recession ?

(A) In economic restriction

(B) In interest rate

(C) In tax

(D) Above all three
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2 Write answer any one question :

10

(1) Explain the trade cycle theory of Prof. Howtrey.

)

Explain the various effects of inflation.

3 Write answer any one question :

ey
)

4 (a)

(b)

10

Explain the employment theory of Prof. Keynes.

Discuss the stages of trade-cycle.

Write short note : (any one)
(1) Characteristics of trade-cycle

(2) Inflation gap

Write short note : (any one)
(1) The market theory of Prof. J. B. Say

(2) Causes of Inflation.

5  Write short answers : (any one)

ey
)
()
4)

Examine the types of economic fluctuation
Examine the types of inflation
Explain the wage-cut theory of Prof. Pigou

Examine the limitations of Prof. Hayek.

DF-001-0014107 ] 8

14

[ 1800/34-78 ]



